$67,500.
O c. $76,500.
@ d. $81,000.




a Bonus is gi\;en“ o the

,; H e ’\ ﬁﬂ
E. ' Amortization is used for Infangible assets o e
o 2
A 4 year note payable is a Long term liability
v | |
i - |
g | (TR i
i Unearned revenue is |1 S R | el
3 v
P r Q¢ - L
i Land improvements is part of iy >
v =
In general, partners have ; ®
o i
gy When a partner leaves a

partnership by withdrawing assets,
and gets an amount more than his
capital balance, this means that

Depletion is used for




Wickland Company installs a manufacturing machine in its production facili
beginning of the year at a cost of $87,000. The machine's useful life is estimatec
5 years, or 400,000 units of product, with a $7,000 salvage value. During its seco
year, the machine produces 84,500 units of product. Determine the machines’

second year depreciation under the straight-line method.

“ a. $16,000.
b. $17,400.
c. $16,900.
d. $18,379.




 Question 3 A contingent liability is:
Correct
Mark 1.00 out ) a. Always of a specific amount.
f1.00 TR o :
o An obligation arising from the purchase of goods or services on cri
¥ Fag | A i e
& eston c. An obligation not requiring future payment. B

d. A potential obligation that depends on a future event arising from a
fransaction or event. '

Question 4 A partnership liquidation occurs when
[ Correct

Mark 1.00 out a. fthe assets are sold, liabilities paid, and business operations terminated
ik b. the ownership interest of one partner is sold to a new partner
¥ Rog c. anew partner is admitted
I question
| d. a partner dies




& g"SlMCO Company purchases a machine on 1/1/2020, at a cost of $27,000. The
“machine is depreciated using the straight-ine method. The machine's useful life i
estimated to be 5 years with a $3,000 salvage value. On 1/1/2022, management

decides to change the useful life to 7 years, instead of 5 years, and keep sclvogel' ,
value the same. :

Required: Calculate the revised depreciation expense on the machine for the year
20222

(write your answer as a number. Do not use any commas or signs. A S sl At ol )
ual g gl & HLAI g cdaté) :

Answer: 2880 v




(write your answer as a number. Do not use any commas or signs. #&
Jual gh gl Ll (o goy cda :

Answer: 50000 v



month, 6%, note payable. LARA Co. closes its accounts annually, on Dec

every year. The loan and total m’reresf are to be paid to the bank at the
loan term.

Required: the adjusting entry on December 31, 2020, will show a credit to
payable for........

(write your answer as a number. Do not use any commas or signs. & S s-alp-“ M‘s&
J..Al}a b LS I S A daaa)

Answer: ' 4050

Match ‘fh'e followings, do not use the option



v

When a partner leaves a | i
partnership by withdrawing assets, | o Bonus is given fo the departing pariner
and gets an amount more than his
capital balance, this means that

Natural resources

P

Depletion is used for

<

When a partner enters a R S R i
partnership by investing assets, and ‘ a Bonus is given to the new pariner
gets a share more than his B
investment, this means that

v

is longer, are:

a. Current assets.
' b. Earned revenues.




disclosed in financial statement foo’rno’res
c. It cannot be changed.
d. It may be revised based on new information.




W)

Tetea 7

fo the

O a. $140,000
O b. $110,000
® c. $45,000
O d. $85,000



by Jorreh‘ Compony?

. a. Debit Cash $7,650; credit Notes Payable $7,650.

. b. Debit Cash $7.500; credit Accounts Payable $7.500.

Debit Accounts Payable $7,500; credit Notes Payable $7,500.
d. Debit Cash $7,500; credit Notes Payable $7,500.

O



Wl

® c.

drawing balances
contribution of assets
the amounts of capital balances

income sharing ratio



Debit Cash $78,000; credit Sales $78,000; and record the taxes when paid.
Debit Sales Taxes Payable $4,680; debit Cash $73,220; credit Sales $78.000.
Debit Cash $82,680; credit Sales $78,000; credit Sales Taxes Payable

$4.680.
Debit Cash $78,000; credit Sales $73,320; credit Sales Taxes Payable $4,680.



|

On April 30, capital balances are Sara $300,000, Adam $250,000 and
The income ratios are 20%, 20% and 60%, respectively. Sara decides t
partnership. The partnership pays Sara $350,000 cash from the compa
partnership interest. After Sara's retirement, what is the balance of Addf

account?

a. $240,000
b. $237,500
c. $325,000
d. $250,000




Debit Unearned Revenue $45,000; credit Sales $45,000.
Debit Sales $45,000, credit Unearned Revenue $45,000.
Debit Cash $45,000; credit Unearned Revenue $45,000.
Debit Cash $45,000, credit Accounts Payable $45,000.




